Selection pp — 88,8 — bbX)  pp — 88,8 — ttX] PP — 88,& — qax; PP — 88,8 — qqVX}
mg = 1000 GeV mg = 1200 GeV mg = 1000 GeV mg = 1000 GeV
mgo = 900 GeV mso = 800 GeV mgo = 800 GeV mso = 800 GeV

Nt > 3 71.92+0.12 99.98 £ 0.01 94.60 £ 0.06 97.39+ 0.04

Hy > 300 GeV 37.59+0.13 99.00 = 0.04 79.74+0.10 69.96 + 0.12

HEs > 300 CeV 13.62 4 0.09 14.9440.13 18.79+0.10 13.76 + 0.09
Nion = 0 13.35 4 0.09 9.53+0.11 18.7740.10 11.47+ 0.08
fmuon) =0 13.08 +0.09 9.21+0.11 18.73+0.10 11.34+ 0.08
Neteotron = 0 12.92 4 0.09 6.11+0.09 18.63 4 0.10 9.55+ 0.08
{electron) =) 12.58 4 0.09 5.79 4+ 0.09 18.50 4 0.10 9.29+ 0.07
(hadron)  — 0 12.36 + 0.09 5.3140.08 18.12+0.10 8.73+ 0.07
A i 5, > 0.5 12.35 4 0.09 5.28 +0.08 18.07 +0.10 8.71+ 0.07
A g 5, > 0.5 10.97 +0.08 4.50+0.08 16.58 4 0.10 751+ 0.07
A g 5, > 0.3 9.96 +0.08 4.00+0.07 15.52 4 0.09 6.69+ 0.06
A gpmiee j, > 0.3 9.17+0.08 3.56+0.07 14.52 4 0.09 5.97+ 0.06
Event cleaning 9.14+0.08 3.55+0.07 14.46 4 0.09 5.94+ 0.06




